@ ®

=I(SL

Komnnekrauin
Components

AeTtani KpoHwTeiiHa
Details of the wall mount

HacTiHHWMI KpOHLWTEenH
Wall plate

MNo3HaueHHA Kinbkictb
Marking Quantity

@ 1

Z

KpOHLWTENH KpinaeHHs
KpenexcHoili KpoHuwmeUlH

MNo3HaueHHA Kinbkictb
Obo3HavyeHue Quantity

2

KomnneKT KpinneHHs
Set of fasteners

[na kpinneHHA naacTUHKM A A0 CTiHK
For mounting the plate A to the wall

/ Mo3HayeHHsA \

Marking

©

Kinbkictb
Quantity

Orob6enb 10x50 4 wr.
LWypyn 6x50 4 wr.
Lanb6a M8 4 wr.

Dowel 10x50 4 pcs
Screw 6x50 4 pcs
Washer M8 4 pcs

[ns KpinneHHA KpoHwTelHa B 4o naHeni
For mounting the bracket B to the TV

f Mo3HayeHHA \

Marking

®

Kinbkictb
Quantity

BUHT M6x12 4 wrT.
BUHT M6x16 4 wWrT.
BUHT M8x16 4 wrT.

Screw M6x12 4 pcs
Screw M6x16 4 pcs
Screw M8x16 4 pcs

- J

@ ®

=I(SL

HacTiHHMIM KPOHLITENH
ans PK (LCD/LED) tenesi3opis i MOHiTOpiB

KSL WM228P
Mpu3HaYeHn gna naHenen 3 KpinuabHMM 6nokom VESA 75x75,
100x100, 200x200 mm i MaKCMManbHOO Barot 25 Kr

[akyemo 3a B1bip npogyku,ii KSL!
BcAa npoayKuina KSL BupobnseTbea B YKpaiHi | Ha Hel HaAaEeTbCa A0BIYHA rapaHTia!

Byab N1acka, yBaXKHO 03HAMOMTECh 3 AaHO0 IHCTPYKLIEID Nepes NoYaTKOM BCTAHOB/IEHHS KPOHLUTENHY !

MoHTaX NOBUHEH NPOBOAMUTUCH Y CYBOPIl BiANOBIAHOCTI A0 IHCTPYKLi!

IHCTPYKUiA 3 BCTAaHOBNEHHA

HeobxiaHuWIi AnA BCTAaHOBNAEHHA IHCTPYMEHT:
— oniBeub (419 PO3MITKM MiCLLb CBEPANIHHA)
— piBeHb (419 NPaBUABHOTO FOPU3OHTANILHOTO BCTAHOB/IEHHA KPOHLUTEWHA)
—nepdopatop i byp giametpom 10 i LOBKMHOKW He meHLwe 60 Mm
— BMKpPYTKa XpecToBa (419 NPUKPYYyBaHHA rBUHTIB J0 NaHeni)
— MOJIOTOK (A/15 3abMBaHHA aHKepis abo atobenis)
— K/itou ravikosuit Ne10 (a1a 3aKkpyvyBaHHA rBUHTIB abo aHKepiB)

Wall mount
for LCD (LCD / LED) TVs and monitors

KSL WM228P

Designed for panel mounting unit with VESA 75x75, 100x100,
200x200 mm and a maximum weight of 25 kg.

Thank you for choosing KSL!
All KSL products are made in Ukraine and have the lifetime warranty!
Please read these instructions before installing the wall mount! Installation should be carried out in
strict accordance to the instructions!

Installation Instructions

Tools required for installation:
— Pencil (to mark the drilling locations)
— The level (for proper horizontal mounting bracket)
— Punch and drill diameter of 10 and a minimum length of 60 mm
— Phillips screwdriver (to tighten the screws to the panel)
— Hammer (for driving anchors or dowels)
— Wrench Ne10 (for tightening the screws or anchors)




3aranbHi BUMorn 6e3nekn. KpoHWTeNH Npu3HAYeHUn oA BCTAHOBNEHHA Y BHYTPIWHIX NpUMilLeHHAX. Mepl Hix
MOHTYBaTW KPOHLUTEIH, NepeKoHanTeca y BiACYTHOCTI MPOXOAMEHHA Ha MicLi KpinaeHHA enekTpuyHoro kabenio,
ra3onpoBofy, CAaHTEXHIYHUX PO3BOAOK i HLUMX KOMYHiKaLii. Hikoan He BCTAHOBAOWTE YaCTUHMU, WO MatoTb AedeKTy.
KpinneHHA, Wo BXOAUTb B KOMMIEKT, Npu3HayeHe Ana 6eTOHHMX abo LerenbHuUX CTiH, TOBLYMHA LUTYKATYpPKU He
NOBMHHa NepesuLLyBati 3 Mm. 1A iHWKWX BUAIB CTiH 3HAZ0OUTLCA iHLWE KPiNAeHHs.

General safety requirements. The wall mount is designed for installation indoors. Before mounting bracket, make sure
no passing in place of mounting electrical cables, gas, plumbing and other communications interconnections. Never
install parts with defects. The included fasteners are designed for concrete or brick walls, plaster thickness should not
exceed 3 mm. For other types of walls need other fasteners.

BMPOBHMK MO3Ke 3MiHIOBATM KOMMM/IEKTALLl0 Ta XapaKTepUCTUKM BUPOBY.
The manufacturer may change the fasteners set and specification the product.

Kpok 1 N\
Step 1

-

BukopucToBytouM nnactHy A y AKOCTi WabnoHy, a
TAKOX piBEHb 3 KOMMAEKTY iHCTPYMEHTIB, PO3MITUTU
MicLe BCTaHOB/IEHHA KpiNAeHHA BiANOBIAHO A0 OTBOPIB
y nnactuHi A; OTBOPM MOBMHHI PO3TaLIOBYBATUCH
rOPU30HTaNbHO. BukopucTosytoumn nepdopatop,
npocBepa T OTBOPWU Yy CTiHIi Aiametpom 10 mm i
MMbuHoo He meHwe 60 mm. Bctasutu arobeni C B
oTBOPW.  3aKkpinMTM  nnactuHy A Ha  CTiHi,
BMKOPWCTOBYHOUM LWYPYNU i Walibu 3 komnnekty C.

Using A plate as a template and the level of the sets,
mark the place of the installation according to the
mounting holes in the plate A; holes should be placed
horizontally Using a punch, drill the holes in the wall
with a diameter of 10 mm and a depth of not less than
60 mm. Put the dowels C in the holes. Fasten the plate A
to the wall using the screws and the washers from the
set C.

- /

YBara! licna BCTaHOBNEHHA KPOHLUTEMHY NepeBipUTU HALiNHICTb MOro KpinaeHHA A0 CTiHW.
Caution! After installation the plate check the reliability of the bracket to the wall.

Kpok 2
Step 2

-

BubpaT 3 KOMMNIEKTYy KpinneHHa D reBuHTH
BiANOBIAHOT JOBXWHM | AiameTpy. BuKopwucToByiTe
Ve pPO3Mip TBUHTIB, BKa3aHWI B iHCTPYKLUii Ao
Tenesisopa! 3akpinuTm Ha naHeni Tenesisopa
KPOHLUTEWHN B, BUKOPUCTOBYIOUM TBUHTU 3 KOMINIEKTY
KpinneHHa D.

Choose from a set of fasteners D screws of an
appropriate length and diameter. Use only the size of
screws specified in the instructions to your TV! Fasten
the brackets B to the TV using the included screws from
the set D.

\_

Yeara! lMicna BCTaHOBNEHHA KPOHLUTENHY NepeBipuT HaAilHICTb MOro KPinJeHHA [0 naHeni Tenesisopy.
Attention! After installation, check the reliability of the bracket to the TV.

4 Kpok 3
Step 3

~

HaBicutn naHenb Tenesisopa 3 KpoHwTeliHamu B
Ha nnacTMHy A, AK Lie MOKa3aHO Ha MAastoHKY.
BKPYTUTW BUAINEHI HA MaNOHKY QiKcytodi rBUHTH
Ha KpoHLWTelHax B fo ynopy.

Hang the TV with the B brackets on the plate A, as
shown in Fig. Screw marked in the figure fixing
screws on B brackets until it stops.

/




